1.

1074 Yt

® EHol 17HdYt.

@ =AE

(® Wo] roFo] = EZF1]r}



< % 16.036 + 7.6 I Fxo] THE A2 o] AYY7?

@® 160.36 + 76 @ 1.6036 + 0.76
® 1603.6 + 760 @ 1603.6 + 7.6

® 0.16036 = 0.076



3. the % Hol thE shihe ol AYUA

@® 175.56 + 23.1 @ 175.56 + 2.31 ® 1755.6 + 231

@ 17.556 - 2.31 3 17556 = 2310



7
AL TEAQ

A
o

—
[0

—
| <

—
[en



<l

wur__o
mjn

3} 2ol 24

2 g
ALU7A?

7Lt

o7} 1em? Q1 &
U, 27} g 2 A of

?l

EED

'cT)_]_—

5.




@ Weol 4 mAY $RFU

@ LAY = 10789 Yo



@ 407}

® 2170

AU, ol

® 1970

7o) mAele] 20} W]

@ 9170 ® 617






9.

Os 22 2712 v 92 ° AL o= A

@ 3:5=5239 H]
® 59 dhet 39 ¥l 2
® 2t 3= 29 thst 3] H]



10. 7h 1 % 9191 Holo] 48 P50,

71 5t

D 100.48cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? ® 175.84cm?



1
@ ®4§,
® @4?
® @45,

7 3
1|93
1
O 7 |G
5 | 2
15| 3

1 1

1

1—
© 221,©7

1—
®) 21,©5

1

3
1

2

2 1 1
OO
@ ®4§,©1ﬁ,©6§



el

o] Folo 11

%

142 =

A
&

1

727} 23 mo|i, AI=7}t 6m <

12.

AU

o] £

™ b=

®1

817
—L
1

@)
® 2



@D 4074

@ 4274

Els E/ﬂ'ﬂﬂ 50cm Q1 A-SHAA &

B3 447§ @ 4674 B 4874

oFol



14. thg 741919 AAENA A B,CO| 0] 42 HHE AL o A
U7, FA1910) Beael iel e Tl )

oiA




15.

WA 50] em Q1 3709] Y& vt ol A Foksyth BAY
o] T4 A, B, CE o]o] HY g rio] Zol7k §em 1 420l
S, BAAA o2 B2 wole dutduzt? (@, o Hol
8em Q AZE Y Wole 27.7cm?, 9FE2 308 ALt

i~
Y,
-

@ 162.2cm? @ 262.2cm? @ 362.2cm?

@ 462.2cm? 3 562.2cm?



